i

infento

AGE: 3-7 YEARS
MAX. LOAD: 110 Ibs / 50 KG
LENGTH: 98 CM - 125 CM
TIME TO BUILD: 2 HRS

AANNTY

DIFFICULTY




You can find a digital copy of all the manuals
at the following web address:
www.infento.com

SUSTAINABILITY IS ONE OF OUR COMPANY'’S PILLARS AND
THEREFORE WE OFFER DIGITAL MANUALS ONLY. WOULD YOU STILL LIKE
TO PRINT THIS MANUAL? WE SUGGEST TO PRINT IT IN BLACK AND WHITE
AND TO PRINT 2 OR 4 PAGES PER SHEET.




Riding on Infento rides can be a dangerous

activity. Certain conditions may cause the equipment
to fail without fault of the manufacturer. Rides made
from Infento parts can and are intended to move, and
it is therefore possible to lose control, fall off and/or
get into dangerous situations that no amount of care,
instruction or expertise can eliminate. If such things
occur you can be seriously injured or die, even when
using safety equipment and other precautions. Ride
atyour own risk and use common sense.

WARNING! NO LIABILITY FOR
CONSTRUCTED RIDES THAT
DIFFER FROM OUR MANUALS

The rides that you can find in our manuals have
been tested by official independent testing agencies.

0 manuals.

2. All fasteners (bolts and nuts) should be
fully tightened.

3. It is the responsibility of the adult who
assembles this bicycle to properly install all
parts included in the factory sealed shipping
carton and to make the adjustments to the
functional parts such as handle bar and seat
and chain when necessary.

USE - SUBSECTION

WARNING! TO AVOID
SERIOUS INJURY:

1. Continuous adult supervision is required.
2. Only ride constructed rides that have been built
according to the instructions given in the official

or weaken parts. Keep your ride in a
ment with proper heating.

9. Avoid sharp bumps, drainage grates and sudden
surface changes. Your Infento ride may suddenly
stop.

10. Ride on smooth, paved surfaces away from
motor vehicles. Wet, slick or uneven and rough sur-
faces may impair traction and contribute to possible
accidents.

11. Never risk damaging surfaces, such as carpet or
flooring, by use of an Infento ride indoors.

12. Never use near motor vehicles, streets, road-
ways, alleys, swimming pool areas, hills, steps, sloped
driveways, inclines and public highways.

13. Watch out for pedestrians, skaters, skateboards,
scooters, bikes, children or animals who may enter
your path, and respect the rights and property of
others.

children on skates or skateboards.

26. Make certain that anyone who uses an Infento
ride has been fully instructed in its operation.

27. Instruct your child on how to use the breaks.
28. Do not perform stunts.

29. Never use headphones or a cell phone when
riding.

30. Only one rider at a time on an Infento ride.
31. Do not allow children to stand on the

product at any time.

FAILURE TO USE COMMON SENSE AND HEED
THE ABOVE WARNINGS INCREASES RISK OF
SERIOUS INJURY. USE WITH APPROPRIATE
CAUTION AND SERIOUS ATTENTION TO SAFE
OPERATION.




QUESTIONS? HELP NEEDED?

You can email us at:
support@infento.com
and our team will assist you as soon
as possible.

NS,

MAINTENANCE | INSTRUCTION

~\lf=

. Oil or grease moving parts periodically.

. Check nuts and bolts often and tighten if necessary.

. Any parts showing evidence or wear should be replaced immediately.

. Follow closely the assembly instructions pertaining to the proper adjustments of

INCLUDED TOOLS RECOMMENDED ADDITIONAL TOOLS
e

parts | — Q Ol
. Periodically check the brake system for proper function M

. Periodically check the steering mechanism for proper function 4 x Allen key 1 x Tapeline c
. Check the air pressure in the tires to be the amount specified in the manual 3,4,5 6 mm C
. Periodically check the bicycle’s tooth belt to be sure that it is not too lose which

could allow the chain to slip off the sprockets. _o 5 x Wrench

L\ % 155 1% T2 T itan

1 x Handtool
for Allen keys




.: Ei? .... ....o

o infento . o

Build solo or as a collaborative You are with two or more people.
team of two. As a team one can You're all skilled enough to build
collect the parts and give a separate constructions. Everyone
helping hand where needed while done? Combine constructions to
the other does assembly. You can form the complete Ride!
change roles whenever you like.

—A,C,
%@ —A,B,C,D,E %

— B, D,



TOP 3 REQUIREMENTS MAKING A GREAT INFENTO EXPERIENCE:

Tighten bolts with full
force (15Nm) to prevent

them from coming loose.

~=i=

Constructing and
playing always under
supervision of an adult.

Check frequently if all
parts are still firmly
tightened and function

properly.




Add a small
droplet of
threadlock
to secure

the bolts




M8x20 o °

LOW HEAD

droplet of
threadlock
to secure
the bolts



<

Add a small
droplet of
threadlock

Y/ to secure

1//4

[ the bolts

=




Add a small
droplet of
threadlock
to secure
the bolts

M8x20

LOW HEAD




M6

@ SQUARE NUT

M6

SQUARE NUT

If you don't have this part, go to
the next step.



°
Add a small o ® 3 1 Y
droplet of - e
pleto 'S
threadlock -
to secure ~ 3 i 4
E
the bolts : I 1 ®
. - 1 I .
s =»~ i
. . 7 °
: . |-
o : s 7 ® o
° : [
:! .! = ]
® I I 51 : i/ J ®
® l | _df e O
o . s ®
o = . [
1_‘ [
o ® : ¢
(B " 3 = °

oe & hox.iooocoooo”.l.\




.iﬁig ..0..0.0 ..o.‘....o...o....o...

Add a small
droplet of
threadlock
to secure
the bolts




Add a small

droplet of
threadlock
to secure
the bolts




S ~
,ﬁw,,(: \
\ Tv/ ,
[ — ¢ ¢ ¢ 0 00 - 00000 csecsssos ) 008080000
Oy
# i
.w,//‘
TN
K
- - -
\ {
ll......., = b0 ...ll........' 40000000
N
- R

Add a small
droplet of
threadlock
to secure
the bolts



m e O ® ) o ®
‘ \“',_f e ° 0 ° o ° o O o
o ' °
o ) ® Add a small [
droplet of M8x20

threadlock LOW HEAD
to secure
the bolts



Add a small

droplet of
threadlock
to secure
the bolts

COUNTERSUNK

v




M8x25
LOW HEAD

)
. : .
[ ] N .
[ ] | |
[e o ‘ N ’ /"
L] < ’ |
L] . ‘
! 2
(]
(] . ’
(] .
* <

o N
. .

¢

‘/

LOCKNUT

'\ 4




i

P00 00 0000000000000 0000000T0C .

Add a small

droplet of
threadlock
to secure
the bolts




Add a small
droplet of
threadlock

to secure

. the bolts

L]

L J

[ ]

[ ]

WSS

® ¥

L]
=
e

L]

[

[

&)







17,32 17,72 "
440 mm 450 mm




&
-

{.léioooooooooooooou-

00 04

[.‘@oooooo-oooo

(.\Q‘oooooooo-ooooooooo

6,50 “ 6,70 “
165 mm 170 mm

Leave at least
0.5mm space when
tightening the bolts.







WASHER

Add a small
droplet of
threadlock

to secure
the bolts




Leave at least
0.5mm space when
tightening the bolts.




.'\“i'; ot et TScel,

) o [
D1 - °® & °.0>2.
" % | G |
|
C
o
o o Don't disassemble.
PY ‘ You can leave
themin.
. |
o
[ ]
[ If you don't have nock washers,
P © use M8-16 washers instead.
O
o
o
o

Le a8 e oo o e e

Add a small
droplet of
threadlock

///(/ to secure
the bolts

QD -




Don't disassemble.
You can leave
them in.

If you don't have nock washers,
use M8-16 washers instead.

Add a small
droplet of
threadlock

Y/ to secure

7/

. the bolts

!




to secure
the bolts




Add a small

droplet of
threadlock
to secure
the bolts




M8x12

COUNTERSUNK







o O ) o e © Y o o e O ) o )
e ° © o e ° © ® ® ° o ° O 0 o D
) ° ® ® ~ e ® o ° ° e’
P . o PY . © [ ) Py . . (D]
()
[
«
°
5,12 " 4,65 “ ®
o o e @O
® °
o e O
) . -
D [ Add a small [
droplet of
threadlock ¢

to secure

the bolts

-
@
‘. °
M8x35 -
'-,. ADJUSTING BOLT
: °

2X e



threadlock
to secure
the bolts




////

<

Add a small
droplet of
threadlock

7 to secure
the bolts

==




Don't disassemble.
You can leave
them in.

If you don't have nock washers,
use M8-16 washers instead.







LOCKNUT




Don't disassemble.
You can leave
them in.

If you don't have nock washers,
use M8-16 washers instead.




M8

LOCKNUT




1§i€ ..o. °® K ..o. .o.:.o..
" pi5 - °® SR
o 0.

Add a small
droplet of
threadlock
to secure
the bolts

$0 0000000000 0CCOOOIOIOOTOITDS




" =i

) | Add a small

D.16 droplet of

threadlock
: to secure
. the bolts

¢
[
e o
[
[ 5 e O
. C : n’g PY [ ]
. =
D - . [
[ . =
; ©
O

\
e
ooooo\‘
K
/



o‘ Hig ®

D
ol

JQ...........‘-
».')

—
.0...'...........'













Knurled disc
1 STRIPE




“Hig .‘o..o.o o.o..o..o‘o..o o _©
= o o .......

E4 - °°® °.°- BN
> ° . ® ‘.o

99

‘,“34000'.‘...“)
¢ 2




Knurled disc
2 STRIPES







CSiE et ettt T T ete e

infento . ® e * . ® o ° « 2 O ® o




